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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Trend plot forP3-4 0
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390 395 400 450 455 460 510 515 520 535 540 545



m=675, FV0=0

25. 20 A

25.15

25.10 A

25. 05

25. 00 A

—O—

M_w

675

GéO
m=1060n FV0=0

T
685

19.7 A

19.6

19.5 A

19. 4

19. 3 A

19. 2

—o—

M_W

T
1060

T
1065

T
1070

22.

22.

22.

22.

22.

23.

23.

22.

22.

21.

m=845, FV0=0

——

M_W

T
845

8%0
m=1160m FV0=0

T
855

—o—

M_W

T
1160

T
1165

T
1170

m=915, FV0=0
20. 80 A o MW
20. 75 A
20. 70 A
20. 65 A
20. 60 ~
T T T
915 920 925

19. 40 -

19. 38 -

19. 36 -

19. 34

19. 32 A

19. 30 -

m=1040, FV0=0

—o—

M_W

T
1040

T
1045

T
1050




hour
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P3-4

BfiE) | GEBEETIC (FD) | EHM=E (EAH/K) | XK R

07:10 210 130.0 F[ BRi&e07:10 Fz1 CGRAERESE)
07:45 210 130.0 = {RRiB007:45 Fzh (REAKEE)
08:20 210 130.0 = {RRi8008:20 Fzh (KRFAEEE)
08:55 210 130.0 F  1BRi1%e08:55 F a1 (RAERE)
09:30 210 130.0 = {RRi8009:30 Fzh (RAKEE)
10:05 210 130.0 5| {Ri%@10:05 F3 (KAERSE)
10:45 210 130.0 5| {RiR@10:45 Fz) CREERESE)
11:30 210 130.0 5| Ri&e11:30 Fz) (GREAERS)
12:15 210 130.0 E BRige12:15 Fz1 CGRAERESE)
13:00 210 130.0 5| {Ri%e13:00 F3h (FRAMERSE)
13:35 210 130.0 5| 1Rike13:35 Fz) (REAEHS)
14:10 210 130.0 El BRige14:10 Fz1 CGRAEESE)
14:50 210 130.0 El BRi&e14:50 Fzh CGRAEREE)
15:30 210 130.0 =l RRiB@15:30 Fz (RFAEEE)
16:30 210 130.0 E BRi&e16:30 Fzh (GRAEREE)
2it] 3150.0 (15)%) 1950.0 3 IWHKEC: 2080.0, PH: 6.5

unusual large postFgEt from yesterday (456), set to 390.0 ml.

RE R i BlRECKIE TR K.

BEFRESIEC (2950.0) 5iZTEEC (2000.0) HEILKA, BFHE
BE R E BL i HEREC/PH{E SRS, ATRESS

MR ELR R




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-4_0, Day=30 (2025-04-28)

_____________________________________________________________________________________ - 2000
VI, VO, FRV, ET — VI, V0, FVI, FVO, FRV, ad jFRV, ET 1689
100 1251 - 1500
81 g1go4l [ 1000
50
- 500
00 Warning: lcol [FVI',| "FVO’'] missing 8 o
0 r gO
150_( FRV — M_E 4}
____________________________________________________________________________ maxM
100 - - 20 w
=
50
. T a Y o B 10
1.0
1
0.8
0.6
0.4 1
0.2
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 4 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6
0.4 1
0.2
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 4 TargetPH=6. 5, TargetSetPH=6.5 N
0.6
0.4 4
0.2
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1 3000
600 Bylnit @D3p 02:41: ET=1320 Fg=1650.0 Ro=142.0
1
1
400 - 1 - 2000
: —$—8—8—8
1
200 - : - 1000
G /MDD 111111
] -
0 —a o la P P — 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 | 3000
6 00 HHE HEE HEE Hi HHE HEE HEE Hi HHE HEE ES ES == E3 ES ES == E3 ES ES == E3 ES ES
B B B B B B B B B B B B B B B B B B B B B B B B
1
400 - ByEt @D30 18:42: ET=1675 Fg=1404. 0 Ro=nan e @ © L 9000
= & ©
200 - - 1000
p—— 86— —& e @ e &
0 — o P G 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 | 3000
6 00 HHE HEE HEE Hi HHE HEE HEE Hi HHE HEE ES ES == E3 ES ES == E3 ES ES == E3 ES ES
B B B B B B B B B B B B B B B B B B B B B B B B
1
400 - ByWoFv @D3F 02:41: ET=1689 Fg=1950.0 Ro=62.0 r 1 ‘ L 2000
1
1
1
200 - : - 1000
p ———& : e @ o——&—
1.0 pb—ma—a la PN 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 1 16 17 18 19 20 21 22 23
== E3 HEE Hi HHE HEE HEE Hi HHE HEE HEE ES == E3 HEE Hi == E3 ES ES == E3 ES ES
0.84 "8 B B B B B B B B B B B B B B B B B B B B B B
0.6
0.4 1
0.2
0.0
1500 4 —_— u
[ ] | _obs
1000 - —@— PPFD obs
500
0

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



m=510, FV0=0 m=600, FV0=0 m=660, FV0=0

9.0 - 9. 00 - - M_E 8. 80 - M_E 8. 70 - - M_E
8. 8 8. 98 A 8. 68
8.75 A
8.6 8. 96 8. 66
8. 70 A
8.4 A 8. 94 A 8. 64 -
8. 65
8.2+ 8.92 - 8. 62
8.0 A M_E 8. 90 A 8. 60 8. 60
T T T T T T T T T T T T T T
500 600 700 800 900 510 515 520 600 605 610 660 665 670
m=720,m FV0=0 m=780,m FV0=0 m=840,m FV0=0 m
8. 50 8. 50 8. 40 - M_E o MW
29.0 A
8. 48 - 8. 48 - 8. 35 -
8. 30 28. 5
8. 46 - 8. 46 -
8. 25
8. 44 8. 44 - 28.0 A
8. 20
8. 42 - 8. 42 - g 15 - 275 ]
8. 40 M_E 8. 40 M_E 8.10 A
T T T T T T T T T T T T T
720 725 730 780 785 790 840 845 850 500 600 700 800 9
m=510,m FV0=0 m=600,m FV0=0 m=660,m FV0=0 m=720,m FV0=0
29.0 A - MW 28. 4 A . MW 25 4 ] - MW 28. 50 A . MW
28.8 1 28.2 4 28. 95
28. 2
28. 6 28.0 -
280 28. 00 A
28. 4 27. 8
27. 8 27.75
28. 2 27.6
27.6 - 27.50 A
28.0 27. 4 A
27. 4
27.8 1 27.2 1 21.25 7
510 515 520 600 605 610 660 665 670 720 725 730
m=780,m FV0=0 m=840,m FV0=0 m m
28. 4 - MW 28. 4 - MW
28. 2 28. 2
28.0 28.0 A
27. 8 27. 8
27.6 27.6
27. 4 A 27. 4 A
780 785 790 840 845 850



hour
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P3-4

BfiE) | GEBEETIC (FD) | EHM=E (EAH/K) | XK R

04:50 210 130.0 5| 1Ri&e04:50 Fzh (KREAEESE)
05:35 210 130.0 = {RRiB005:35 Fzh (RFAKEE)
07:15 210 130.0 = {RRiB007:15 Fzh (REAEEE)
07:55 210 130.0 F  BRi1&e07:55 F a1 (REEREE)
08:35 210 130.0 = {RRi8008:35 Fzh (RFAEEE)
09:20 210 130.0 E BRi&@09:20 Fz1 (RAERERE)
10:15 210 130.0 S {Ri%e10:15 F3 (GRAERSE)
11:00 210 130.0 5| Ri&e11:00 Fz) (REAERS)
11:50 210 130.0 = RRiB011:50 Fzh (REAEEE)
12:35 210 130.0 = BRiB@12:35 Fx (GREAERESE)
13:15 210 130.0 E BRi&e13:15 Fzh CGRAERESE)
13:55 210 130.0 E BRi&e13:55 Fz (GRAERERE)
14:30 210 130.0 = BRi1B@14:30 Fzh (GRFAEREE)
15:10 210 130.0 =l RRiB@15:10 Fz (REAKEEE)
15:55 210 130.0 = {RRiBe15:55 Fzh (REAKEE)
2it] 3150.0 (15)%) 1950.0 3 IWHKEC: 2080.0, PH: 6.5

BE X i# B ECEL B Hh k. ‘
FEREBIEC (2950.0) HiZFEEC (2000.0) REK K, HHRE
BER LI HEREC/PHESLK, FIRERNNBEEIRSR



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-4_0, Day=29 (2025-04-27)

_____________________________________________________________________________________ - 2000
VI, VO, FRV, ET — VI, V0, FVI, FVO, FRV, ad jFRV, ET 1714
100 + - 1500
1089
81 8181 - 1000
50 A
- 500
00 Warning: lcol [FVI',| "FVO’'] missing 8 o
0 r0
150 3 FRV — WE P30
____________________________________________________________________________ maxM.._25
100 + - 20 Y,
=
50 F15
L " N ‘10
1.0
4
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 4 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 4 TargetPH=6. 5, TargetSetPH=6.5 N
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
. 4 3000
600 4 Bylnit @D3$ 02:42: ET=1285 Fg=1650.0 Ro=162.0
1
1
] i L 2000
400 ! -8 8 @
1
200 - : - 1000
GBS ) ENED S 111117
1
0 P ala P P G \¥ 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 L 3000
wiZz[Zz| R R [ BB RI B[R R | R RE|[R| " | "% |%| %% %% | %"=
1
ByEt @D29 18:41: ET=1692 Fg=1566. 0 Ro=nan
400 - L 2000
200 ~ - 1000
—— =] S & ————S—
O o oo 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 L 3000
6001Z=|[Z=| BB | B 5 5 | BB | BB | BB | B i 5 5 5 B 5 5 5 B |Z=| B |25 |Zn| B
1
ByWoFv @D38 02:42: ET=1716 Fg=1950.0 Ro=45.0 | 2000
400 - :
1
1
1
200 - : - 1000
p—o—o—lo oo —o
1.0 pb—ma—a la 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
0.8—-%% 2| B i g g fg i g B 5 5 5 5 fg 5 5 5 5 |Z=| B | 25|55 B
0.6 -
0.4 1
0.2 A
0.0
1500 - | t
o | _obs
—@— PPFD_obs

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=510, FV0=0 m=600, FV0=0 m=660, FV0=0

1004 o 9. 80 o— wE | 9607 o— e 9507
9.99 9.78 - 9.58 - 9.48 -
9.8
9.76 - 9.56 - 9. 46 -
9.7
9.74 - 9.54 - 9. 44 -
9.6
95 9.72 - 9.52 - 9. 42 -
9.4 9.70 - 9.50 - 9.0 & ME
T T T T T T T T T T T T T T
500 600 700 800 900 510 515 520 600 605 610 660 665 670
m=720,m FV0=0 m=780,m FV0=0 m=840,m FV0=0 m
9.50 o— e | %507 o ne 9. 60 - 374 _e—
9. 48 - 9.58 - 9.58 - 26
9. 46 - 9. 56 - 9.56 -
—o— ME 35 7
9. 44 - 9.54 - 9.54 -
34 -
9. 42 - 9.52 - 9.52 -
33 -
9. 40 - 9.50 - 9.50 -
T T T T T T T T T T T T T
720 725 730 780 785 790 840 845 850 500 600 700 800 9
m=510,m FV0=0 m=600,m FV0=0 m=660,m FV0=0 m=720,m FV0=0
25 5 36. 5 -
35.54 — @ MW —o— MW 36.04 —®— MW —— MW
35.0 - 36.0 1
35.0 - 35. 5 -
34.5 - 35.5 -
34.5 1 35.0 -
34.0 - 35.0 -
34.0 1 34. 5 4
i 34.5 -
33.5 33.5 34.0 -
33.0 - 34.0 -
33.0 - 33.5 4
325_ T T T 325_ T T T T T T 335_ T T T
510 515 520 600 605 610 660 665 670 720 725 730
m=780,m FV0=0 m=840,m FV0=0 m m
—— MW 37.04 —e— wmw
36. 5 -
36.5 -
36.0 -
36.0 -
35. 5 -
35. 5 -
35.0 -
35.0 -
34.5
34.5 -
34.0 -
T T T 34 0 B T T T
780 785 790 840 845 850



